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BASIC CONCEPT
HT SIdYIRUM
Time and Efficiency (or one day work) both are
inversely proportional to each other .
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Time ; Efficiency
Efficiency ; Time




BASIC CONCEPT
e SR

> Wages always distributed in the proportional of
work.
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. | > Note :-2
| > M = Number of workers M, xD,xH, M,xD,xH,

| > D = Number of working days W, W,
| >» H = Working hours in one day
» W = Unit of work ( wages )
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Q:<1. 18 men can complete a work
in 9 days. In how many days will 27
men can complete the same work?
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ork in 6 days if they work 4
hours per day. Find the number
of days in which 18 men can do
3 hour per day?
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ays if they work 1 "ho
the number of days in which 72 mencan
do a work which is one and half of the S8

given work. If they work 12 hour per day ?
24 &1 H 50% HTH B

"(B)36 days
(C)54 days
(D)24 days




8 days they start the work but after 4
days 6 men leave the work. Find the
number of days in which total work
become complete?
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32 days. 8 days after they started
working, 72 more men joined them.
How many days will they now take to
complete the remaining work?
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a jOb They worked for 5 days after 2
men left the job . In how many days 5

men will complete the remaining job
I?
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(C)13 1/5
(D)12 1/5




16 days . 50 men start the work after 3
days how many men would be emited
so that work will f|n|sh in time ?
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. 120 men in“arnm
provisions for 150 days food. After 5
days 45 men left the camp then the
remaining food will last long for how
many days ?

| 3CT:- TP QAT DI chol H 120 ART BT

|
kir 45 ,
L g, 31d Fa1 g @1 fpaq v fea
qH T 2 (A)212
(B)224




@' road of BKntlengthr Wil de-construtted i 100 days.

0, 280 workers were employed. But after 80 days, it was
found that only 3 72 km road was completed. Now, how many

i more people were needed to finish the work in the specified
time?

| 100 fe=11 # 5 freHier dars ot Ao® &1 fAafor faar '
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@; days. 64 men started for the same
work for x days . After x days , 32 men
increased , So the remaining work is

completed in 16(2/3) days. Find x .
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O0men replaced by 10 women then in
how many days the total work will
complete ? (efficiency of woman is half
then man)
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S-12. :- If 5 men or 9 women can d
a piece of work in 19 days . In how (

I}

many days 3 men and 6 women will
do the same work ? |
g7 9







